Directional Control Valves

atrio

No code=
H=35MPa
Size 10;16;25;32

Head Office - Jeddah (Saudi Arabia) - Tel. : +966 2 6819000, Fax : +966 2 6878113
Branch - Riyadh (Saudi Arabia) - Tel. : +966 1 2045100, Fax : +966 1 2044940

http:/ /www.algemamhydraulics.com/ - E-mail : info@algemamhydraulics.com

(C DWHG SERIES SOLENOID
PILOT OPERATED
DIRECTIONAL VALVES

DWHG series are solenoid pilot operated spool type
valves . This series are used to control the start ,stop
and direction of flow.

| H |4DWHG10|H | E |60*O |Dcz4| N |ET*S |Z4 |BO.8|P4.5| D1 | Vv | * |

28MPa

No code=spring return
H=Hydraulic return

See the function symbol
of spool valve

Series 30=Size 10;Series 60=Size 16-32

O=Without spring return
OF=Without spring return,with detent

DC24=DC24V;AC220=AC220V;AC110=AC110V

No code=Without manual overrides
N=With manual overrides

No code=Externally pilot, externally drained
E=Internally pilot,externally drained
ET=Internally pilot internally drained
T=Externally pilot, internally drained

For further details

No code=NBR seals for petroleum oils

V=FPM seals for phosphate ester

No code=Without ratio pressure reducing valve
D1=With ratio pressure reducing valve

(reducing ratio 1:0.66)

No code=Without pilot pressure
P4.5=With pilot pressure
cracking pressure is0.45MPa

Omit if without plug-in throttleer
B0.8=Throttle orifice size 0.8
B10=Throttle orifice size 1.0
B12=Throttle orifice size 1.2
B15=Throttle orifice size 1.5

Z4=Quadrate plug Z5=Large quadrate plug

No code=Without pilot adjustment
S=With meter-in pilot adjustment

S2=With meter-out pilot adjustment

(© Technical data

Size 10
Max operating pressure P.A.B(MPa) 31.5
Externally drained 31.5
T Port(M AC-10
ort(Mpa) Internally drained
DC-16
. AC-10
Y Port(Mpa) Externally drained
DC-16
Min. Pilot pressure (MPa) 0.45-1

Max. flow rate(L/min) 160

16

35

25
AC-10
DC-16
AC-10
DC-16

0.45-1.3
300

25 32
35 35
25) 25
AC-10 AC-10
DC-16 DC-16
AC-10 AC-10
DC-16 DC-16
0.45-1 0.45-1
650 1100



Head Office - Jeddah (Saudi Arabia) - Tel. : +966 2 6819000, Fax : +966 2 6878113
Branch - Riyadh (Saudi Arabia) - Tel. : +966 1 2045100, Fax : +966 1 2044940
http:/ /www.algemamhydraulics.com/ - E-mail : info@algemamhydraulics.com

WHG LB WHG
_*_ " i

ot

Note:Only DWHG16 with S spool

Skl
e

(> Spool symbols o
,*- oo/
DWHG i g
B i PN
b
"’ b 4 H/
PT
A B
"’ b “ ...H.../O
A, B
n)m celfee JOF
HHETY X c
Koy XY v
DT bl DX
WHG & B
Sl Lk - OHEEEN OEX - XSEE) X9 -
DWHG
e HEEHX OIEX e AT XEH »
) | [\ ] = = o Y
o THET XHEHD « SR EX s
, == BTN [Z]}E[Im | ME[Z} "

DXE D «
ALE

<

(S Pilot fluid supply

Main valve

DWHG10 explanation partial drawing

1. DWHG10

(1) Internal pilot and external pilot:

The“P’port with M6 screw 3 is external pilot,to
convert valve into internal pilot, the M6 screw 3
must be removed.

(2) Internal drain and external drain:

Removing the bolt 1, to install M6 screw 2 is
external drain,unscrew the M6 screew 2 is internal
drain.

daimti=ill

XD -

External pilot

DWHG16 explanation partial drawing

2. DWHG16

(1) Internal pilot and external pilot:

Removing the sideward cover, installing the pin to
allow “P” port with open position is internal pilot, to
convert the pin into “P” port with plugged position is
external drain.

(2) Internal drain and external drain:

Removing the bolt 1 and installing M6 screw 2 is
external drain, unscrew the M6 screw 2 is internal
drain.

Directional Control Valves



atrio

Head Office - Jeddah (Saudi Arabia) - Tel. : +966 2 6819000, Fax : +966 2 6878113

Branch

- Riyadh (Saudi Arabia) - Tel. : +966 1 2045100, Fax : +966 1 2044940
http:/ /www.algemamhydraulics.com/ - E-mail : info@algemamhydraulics.com

(O DWHG SERIES SOLENOID PILTO

OPERATED DIRECTIONAL VALVES

(C Pilot fluid supply i

Directional Control Valves

DWHG32 explanation partial drawing

Main

valve

DWHG25 explanation partial drawing

NSINNIN

3. WEH25

(1) Internal pilot and external pilot:

Removing the sideward cover,installing M6

screw 1 is external pilot,unscrew the M6 screw

2 is internal pilot.
(2) Internal drain and external drain:

Removing the M6 screw 2 in the “T”port on the

top of main valve is internal drain, installing the

M6 screw 2 is external drain.

4. WEH32

1. Internal pilot and external pilot:

Installing the M6 screw 1 in the“P”port on the
top of main valve is external pilot; removing

the M6 screw 1 is internal pilot.
2. Internal drain and external drain:

Removing the M6 screw 2 in the“T"port on the
top of main valve is external drain; installing

the M6 screw 2 is internal drain.

NOTE : 1. The “X” port on the base plate must

be plugged if internal pilot.

2. The “Y” port on the base plate must

be plugged if internal drain.

(C Installation dimensions DWHG16 138
101.6
DWHG10 18 88. 1
61.9 76.6
54 27 <32.9
50.8 —
37.3 7.19 “s -
27 =
16.7 ; Py
3.2 — BN
7‘ j Lo ‘ Cﬁ.H
1‘@* el B ) o | o|s|o
R N B 228 1 55H
— o i Y —
] o o DD
- ) . P
£10.5 Y A S2
W6 -
DWHG25 DWHG32 -
168 233.5
130 190. 5
168. 5
14 76130' 6 21.5 117.5
=0 114.5
2 82.5
29.2 6-M12/25 76
1.5
oo, & 5 oy
| J Y ;/\ | 6-MRO
|
240 | oo ‘ \\\i‘// ? 3449% ‘
5| < \\<L[ “* |~
| ol B O~ 31910 R
i 1 i 2| BN =
y | :¢ = s ! e I/ N f—— -
o _ o — . | | o
@ @ @ 4 m mw Pan W
U538 N> N




